a
~
A
IS
~
N
A

Fox 50 VX

OMER




T 2y D"wIkn OMER 'naan
D'MIN72'2N NjpaN 'o1A
NIDT 7Y D190 7D .0"URIN
.In '© 2y |*T7 Ty OMER
NIDTN DX INXY7 MNIY XN
DIXINN '019N DX NNRYY
X771 NN Y TIN X977
N

OMER

AvID nitn
ann A '7II7'UYJ 1';’};_1
1N n'mwn TUNNINYD InY inY Xy e
FOX 30 VX | 5.000 kg 400V 3/50Hz 8210 Bar 280 Bar 231 2250 kg B5s
N-CT 11.000 Ibs 15 kW 4,850 Ibs
FOXSDVENAT | 5.000 kg 400V 3/50Hz 8210 Bar 280 Bar 231 2550 kg 65 s
FOX 50 VX CT-LT | 11.000 Ibs 15 kW 5,500 Ibs
FOX 50 VX 5.000 kg 400V 3/50Hz B=10B 280 B 211 2550 ke 10
binee dicalladt | 11,000 Ibs 5.5 kW . o 5.500 Ibs :
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